AUTHORIZED USA
DISTRIBUTION BY:

TRIVAL spmenme CYNHONY

195 Follen Road

Lexington, Massachusetts
anTene T cutomerdiunes AD-4

781-430-0675

The family of the HF mobile antennas AD-4 are composed of the antenna sections and the antenna bases
suitable for various configurations and antenna heights. The antennas are intended for mobile work with the
HF radios. The antenna sections are all 120 (4’) cm long and are made of strong pultruded composite tube
(fiberglass) with male and female joints at both ends. Antenna sections are mounted on the antenna base
type AP-4/M (up to 4 sections) or on the base type AD-4/MHD (up to 7 sections), made of composite
materials and with biconical SS spring enabling bending the antenna with the rope horizontally for NVIS
applications. The antenna sections are packed in canvas bag for transportation and storage.

The antenna AD-4 could be used also stationary with the antenna base type AP-4/S or side feed base type
AP-4/SF.

A special antenna base type AP-4/MHL was designed for NVIS applications. The AP-4/MHL has a special
locking system enables to lock the spring for rigid position or unlock it in order to tilt the antenna in horizontal
position for NVIS applicaitons.

NATO Stock Number (NSN): 5985-42-000-0720 (antenna AD-4/4.8m with the antennabase AP-4/MHD)

R (ohm) jX (ohm)
E w —I 1000 600
~~ = I 900 4 400 .".
e i = i J
1 D_ 800 HH 200 : /\
o 5 i Azl
< < ! R RARRE 2 a AL EE
0_ 600 H 200 2 Cal] “,' |
< 500 : -400 ," ! "JA ,/
Hl: / B
400 | 600 || LIk
300 : :. ,’ ‘ -800
] 1
200 L \ -1000
' Y \‘ 2 4 6 8 1012 14 16 18 20 22 24 26 28 30
100 . / ‘! N f (MHz)
" 0 21/ _/' '“:}a,_ Legend:
2 4 6 8 1012 14 16 18 20 22 24 26 28 30
f (MHz) 6 m antenna (5 sections): =====m==
4.8 m antenna (4 SECtioNs): m—
3.6 m antenna (3 sections); == = w—
Frequency range 1,5- C_’;O MHz Antenna Sections
Impedance see diagram
Maximum power 400 W - 1 kW CW
Polarization VER.
Connector M 8 screw type
Height 3.6 - 4.8 m with
AP-4/M
4.8 - 8.4 m with

AP-4/MHD, MHL
AP-4/S or AP-4/SF

Section weight

- AD-4/1 0.17 kg

- AD-4/2 0.26 kg

- AD-4/3 0.40 kg

- AD-4/4 0.53 kg

- AD-4/5 0.63 kg

Support weight

:QE:Z'\SA gg Eg Total height of sections:

- AP-4/MHD 4.3 kg 3.6 m = Sections AD-4/1 + AD-4/2 + AD-4/3

- AP-4/MHL 4.1kg 48m= Sect!ons AD-4/1 + AD-4/2 + AD-4/3 + AD-4/4

Wind velocity 120 km/h 6.0 m = Sections AD-4/1 + AD-4/2 + AD-4/3 + AD-4/4 + AD-4/5

Temperature range | - 40...+70 °C 7.2 m = Sections AD-4/1 + AD-4/2 + AD-4/3 + AD-4/4 + AD-4/5 + AD-4/5
8.4 m = Sections AD-4/1 + AD-4/2 + AD-4/3 + AD-4/4 + AD-4/5 + AD-4/5 + AD-4/5

TRIVAL ANTENE d.o.o., Gorenjska c. 25, 1234 MENGES, SLOVENIA,; tel. +386-1-8314-396; fax. +386-1-8313-377
email: info@trivalantene.si; www.trival-antennas-mast.com


dougd
Placed Image


Antenna Sections
Antenna Section AD-4/5

[ D
Antenna Section AD-4/4
[ N
Antenna Section AD-4/3
r | B —r
Antenna Section AD-4/2
I IT J— 10

Antenna Section AD-4/1

O

Antenna Support
type AP-4/M

Antenna Support
type AP-4/S

Stainless Steel Joint

Stainless Steel Joint

Biconical Spring

Composite Body

Composite Base

4xM10 SS nuts \

1

SS base flange

SS Adapter Plate
Bolt hole diam. 4.5" L

i

J

Neoprene Gasket Neoprene gasket

H

=

Vehicle body

SS plain washer

\ Vehicle body

e T
T

SSNUtM50 X 2 with A

side locking screws

thread M50 x 2
inner PTFE insulator

M8 SS locking nuts
with washers

PTFE insulator _—

w. "O" ring washer

M8SSnut _—
M8 SS wing nut _—

RF connetion \">_RF connecting wire

screw M8

pa ]

Stainless Steel Joint

RF Wire
Connection Point

e

Antenna Support
type AP-4/SF

Composite Body

4xM10 SS nuts

SS Adapter Plate
Bolt hole diam. 4.5"

SS Screws
M10 x 30 4
spacer -
SS Washers insufator i
M10
SS Adapter Plate

Bolt hole diam. 4.5"
Mounting Surface

Antenna Support
type AP-4/MHD

Stainless Steel Joint

Biconical Spring

Composite Base

4xM10 SS nuts \

i

Vehicle body

SS Adapter Plate

&
Bolt hole diam. 4.5" [

Neoprene gasket

PTFE insulator _— @‘

w. "O" ring washer =
=z

M8 SSnut _—
M8 SS wing nut _—

Locked/Unlocked Stainless Steel Joint

|

locking
system

Antenna Support
type AP-4/MHL

~— side feed

i

epox
fiberglass

tube

—

AUTHORIZED USA

Neoprene gasket

- cynfeny

customer affuned

ales@cyntony.com
781-430-0675



dougd
Placed Image


	Page 1
	Page 2



